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BLOCK 6- SUBTRACTING 2-DIGITS -1 DIGIT

Q 1.The answer we get after subtraction is called
a. Addition
b. Minus
c. Difference

38
- _4
34
This method of subtraction is by
a. Expanded form
b. Column method

Q 3. Karan sold 47 juices on Sunday and 5 juices on Monday ? How many more
Juices did he sell on Wednesday?
a. 415
b. 32
c. 52

Q4. Which subtraction using expansion form is correct ?

a. (3Tens+60nes) - (0Tens + 8 Ones) =(2 Tens + 8 Ones)
b. (5Tens+20nes) - (0Tens + 3 Ones)=(0Tens + 3 Ones)
c. (3Tens+50nes) +(0Tens+7O0nes) =(4Tens+ 2 Ones)




The answer is

Q6. Rupa has Rs 94. He gave Rs 7 to his sister.

How many rupees are left with Rupa now ?

a. Rs 87
b. Rs 60
c. Rs50

14-8= , after counting backwards from 16 , we get

a.
b.
c.

Q8. | have5 erasers . My sister has 15 erasers .
Who has more erasers and how many more.

a. 30

b. 20

c. 10

Q9. While subtracting in column method ,
first we start subtracting from
a. Ones column
b. Tens column
¢. Both columns

Q10. 33-9=24 is a subtraction




a. With Regrouping
b. Without Regrouping

. Sheeba has 38 strawberries and 4 bananas .
How many fruits does she have in all ?

This is called subtraction
a. With Regrouping

b. Without Regrouping
c. None of these

Q13. 68 -1 =58

True
False

Q 14. Ahmed has 55 stickers. 7 of them are red and the rest are yellow. How
many stickers are yellow ?
a. 48

b. 62
c. 52

Q15. 50-5=65
a. True
b. False
c. None of the above




